Homework Set 26A
PH 112 – 10
P1.	The plates of a parallel-plate capacitor are 3.28 mm apart and each has an area of 12.2 cm2.  Each plate carries a charge of magnitude 4.35 × 10-8 C.  The plates are in vacuum.  (A) What is the capacitance?  (B) What is the potential difference between the plates?  (C) What is the magnitude of the electric field between the plates?


P2.	For the system of capacitors shown below, find the equivalent capacitance (A) between b and c, and (B) between a and c.
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P3.	In the figure shown below, each capacitor has a capacitance of 4.00 μF and the potential difference between a and b is 28.0 V.  Calculate (A) the charge on each capacitor; (B) the potential difference across each capacitor and (C) the potential difference between points a and d.
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P4.	For the capacitor network shown below, the potential difference across a and b is 12.0 V.  Find (A) the total energy stored in this network and (B) the energy stored in the 4.80-μF capacitor.
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P5.	In the circuit shown below, C1 = C5 = 8.4 μF and C2 = C3 = C4 = 4.2 μF.  The applied potential between a and b is 220 V.  (A) What is the equivalent capacitance of the entire network?  (B) Calculate the charge on each capacitor and the potential difference across each capacitor.
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